[ Efficiency vs vertpos |

—0.05
$.045
2
20.04
(&)
$.035
O
£0.03
0.025
0.02
0.015
0.04
0.005

1.0

Ratio

o
©
a

r
4
+
4
+
+

b G
4
4
+
¥
4
=
N

.....

-+

L B LR EARRN RN RN RRRRN LR RRRRE AR LRRRN LRRR

=
2
N

10 1 10 0?
TP vertr (cr%)

—=— DQM_original_step2_ttbar-phasel-newgeom

— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
[Efficiend —— v plateGutChiSquarer >

—— DQM_pixelCPETemplateCutChiSquareNew7_step2_tthar-phasel-newgeom

~ 0.1
20.09
o
>0.08
>
2
.90.07
o
£0.06
()
0.05]
0.04
0.03
0.02
0.01
e

I
-
N

Ratio

o S O - - -~ 4 - - 4 - b 4
4
I (R R PP A A [ 4 N R R R | I ) 8 1
1 I 4

%35 =20 =10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~n0.02
>
£0.018
Ho16
9.014
>
B.012
R
(&)
& 0.0
(]
0.008
0.006
0.004
0.002

.....................

S ) PP ER—
4
+Ti
I *'-_HF-
o+

T

0

Ratio
=

0.9

T
K
T
e

|
H F T

o

10 15 20
Sim. PV z (cm)



	Contents
	Page 1


